P: PUREFIRE®

PF-50, PF-80, PF-110 & PF-140

All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.
All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

S\@

PF-50, PF-80, PF-110 & PF-140

4 PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective June 1, 2011



) PUREFIRE®

[ ) PF-50, PF-80, PF-110 & PF-140
' All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PF-50, PF-80, PF-110 & PF-140

Descripti Quantity Stock Trade
escription Requi .
equired Code Price
1 Front Door Panel with Ball Studs 1 54168 $168
2 Control Lens 1 54167 $57
3 Display Module Revision 2 852RC-3R 1 54423 $309
4 Display Bracket Gasket 1 54153 $21
5 Bracket for Display Module 1 PF2007-1 $10
6 Hex Nut, #6-32 with Lockwasher 2 51553 $1
7 Screw, #6-32 x 1/2" LG Phillips Head 2 5449 $1
8 Flexible Gas Line — 1/2" (includes gasket and hardware) 1 54203 $59
9 Gasket for Gas Line 1 54142 $21
10 Nipple, 1" NPT x Close 1 99211 $1
11 Manual Shut-off Valve, 1/2" NPT 1 54130 $42
12 Screw, #10 x 1/2" Long Hex. Hd. 2 99992 $2
13 Coupling, 1" NPT Brass 2 5534 $9
14 Nipple, 1" NPT x 6" Long Brass 2 5533 $19
15 Jacket Side Panels — PF-50, PF-80 1 54173 $370
Jacket Side Panels — PF-110, PF-140 1 54192 $383
17 Bulk Head Fitting for Condensate Connection 1 54140 $21
18 Gasket for Bulk Head Fitting 1 54134 $12
19 Leg Leveler 4 5429 $5
20 Hook Bolt 2 5451 $2
21 Convenience Outlet 1 54136 $5
22 Hex. Nut, #8-32 with Lockwasher 4 51573 $1
Control Module, 852MN Kit — PF-50 Revision 0 1 54265 $446
Control Module, 852MN Kit — PF-80 Revision 0 1 54266 $446
Control Module, 852MN Kit — PF-110 Revision 0 1 54267 $473
o3 Control Module, 852MN Kit — PF-140 Revision 0 1 54268 $490
Control Module, 852MN Kit — PF-50 Revision 1 & 2 1 54282 $242
Control Module, 852MN Kit — PF-80 Revision 1 & 2 1 54283 $242
Control Module, 852MN Kit — PF-110 Revision 1 & 2 1 54284 $242
Control Module, 852MN Kit — PF-140 Revision ! & 2 1 54285 $242
24 Switch, Round Toggle, 120 VAC 1 6049 $26
25 Vent / Air Inlet Adapter, 3" 1 54135 $84
26 Gasket, Vent Adapter, 3" 1 54133 $51
27 Screw, #10 x 5/8" Long Phil. Pan Head Type A Zinc 6 5507 $1
28 Condensate Receiver Kit 1 54205 $103
29 Condensate Neutralizer Kit 1 54204 $69
- Wiring Harness, Power (Right Terminal Block) 1 PF7002 $53
- Wiring Harness, Control (Left Terminal Block) 1 PF7003 $103
- Wiring Harness, Blower 1 PF7005 $49
- Wiring Harness, Ground Wire 1 PF7009 $26
- Push-on Terminal Block (for Field Wiring Connections) 2 5450 $11
- Ignition Cable 1 54115 $16
- Relief Valve 1 50664 $13
- Flue Sensor, 12kOhm Tasseron TSDZ0B1 1 54111 $30
- Supply Sensor/Switch, 12kOhm Tasseron Kit 1 54299 $41
- Return Sensor, 12kOhm Tasseron TSD0OOBS 1 54418 $30
- Outdoor Sensor, 12kOhm Tasseron TSA00B4 1 54112 $34
- DHW Sensor, 12kOhm Tasseron TSK10BH 1 54157 $41
- System Sensor, 12kOhm Tasseron TSA0O0OBC 1 54156 $41

PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective June 1, 2011




P: PUREFIRE®

PF-50, PF-80, PF-110 & PF-140

All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.
All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PF-50, PF-80, PF-110 & PF-140

6 PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective June 1, 2011



) PUREFIRE®

[ ) PF-50, PF-80, PF-110 & PF-140
' All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PF-50, PF-80, PF-110 & PF-140

Description Quan_tlty Stock Tra!de
Required Code Price
Burner — PF-50 1 54174 $237
49 Burner — PF-80 1 54175 $271
Burner — PF-110 1 54176 $305
Burner — PF-140 1 54177 $338
44 Combustion Chamber Cover Plate, includes items #45-#47 1 54183 $32
45 Gasket, Glass Rope 1 54188 $2 /it
46 Gasket, Rubber 1 54187 $11
47 Insulation, Combustion Chamber Cover Plate 1 54184 $19
50 Insulation, Target Wall 1 54185 $32
Heat Exchanger — PF-50 1 5410 $1140
51 Heat Exchanger — PF-80 1 5411 $1350
Heat Exchanger — PF-110 1 5412 $1783
Heat Exchanger — PF-140 1 5413 $2200
52 Gasket, Blower to Channel 1 54122 $12
Blower — PF-50, PF-80 1 54189 $285
53 Blower — PF-110 1 54190 $342
Blower — PF-140 1 54191 $375
55 Blower Adapter Plate 1 5421 $4
Swirl Plate — PF-50, Blue 1 54144 $36
57 Swirl Plate — PF-80, Black 1 54143 $36
Swirl Plate — PF-110, White 1 54145 $36
Swirl Plate — PF-140, Red 1 54146 $36
Gas Valve — PF-50, w/ Mtg. Flange, Swirl Plate & Screws 1 54178 $254
58 Gas Valve — PF-80, w/ Mtg. Flange, Swirl Plate & Screws 1 54179 $247
Gas Valve — PF-110, w/ Mtg. Flange, Swirl Plate & Screws 1 54180 $290
Gas Valve — PF-140, w/ Mtg. Flange, Swirl Plate & Screws 1 54181 $322
Vent Termination Kits
- 3"SS Vent Termination Kit 1 54161 $146
- 4"SS Vent Termination Kit 1 91401 $451
- CPVC Vent/Inlet Adapter 1 54135 $84
- Poly-Propylene Vent/Inlet Adapter 1 54155 $84
- 3" Vent Perf Stainless Steel Screen 1 54150 $5
- PVC 3" DWV P400-030 Tee 1 54151 $32
- PVC 3" DWV P100-030 Coupling 1 54152 $32
- PVC 3" Concentric Termination 1 91403 $127
Poly-Propylene Venting
_ 80/125mm White Concentric Sidewall Vent kit — Includes Concentric Vent Termination, _ 54396 $190
Outer Wall Bracket, Inner Wall Bracket with Securing Tab and Screws
_ 100/150mm White Concentric Sidewall Vent kit — Includes Concentric Vent Termination, _ 54397 $254
Outer Wall Bracket, Inner Wall Bracket with Securing Tab and Screws
- 80/125mm White, Black Concentric Vertical Termination - 54398 $212
- 100/150mm White, Black Concentric Vertical Termination — 54399 $324
- 80/100 White Concentric 90 Degree Elbow with Locking Band - 54085 $85
- 100/150 White Concentric 90 Degree Elbow with Locking Band - 54435 $112
_ Concentric Adapter Kit — 3" PVC to 80/125mm — Kit Includes 2 PVC to PP Adapters, _ 54296 $157
1 Two-pipe Adapter and (1) 80 x 500mm PP Pipe Length
_ Concentric Adapter Kit — 4" PVC to 100/150mm - Kit Includes 2 PVC to PP Adapters, _ 54297 $208
1 Two-pipe Adapter and (1) 100 x 500mm PP Pipe Length
Miscellaneous
- Large Clamp Hose 1 54138 $13
- Small Clamp Hose 1 54139 $13
- Condensate Neutralizer 1 54121 $65
- Electric Panel MNT Receptacle 1 54136 $5
- Burner Mounting Plate Kit PUREFIRE 1 54128 $113
- Switch Condensate Float w/ Cap Switch 1 54137 $42
- Condensate Collector 1 54120 $65
- Wall Mounting Kit 1 5636 $63
— Gas Line Flex Kit w/ 1-1/2" NPT 1 54203 $59

PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective June 1, 2011




P PUREFIRE®

» PF-210 & PF-399

All repair parts orders - no minimum charges.
Please order with code number.
All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PeerlessBoilers.com

PF-210 & PF-399

8 PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective June 1, 2011



) PUREFIRE®

[ ) PF-210 & PF-399
' All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PF-210 & PF-399

] Quantity Stock Trade
Description A s
Required Code Price
1 Panel, Jacket Front Door, with Ball Studs 1 54256 $168
2 Lens for Jacket Front Door 1 54167 $57
3 Display Module, Argus 852RC 1 54281 $174
4 Gasket for Display Bracket 1 54153 $21
5 Bracket for Display Module 1 PF2007-1 $10
6 Hex Nut, #6-32 with Lockwasher 2 51553 $1
7 Screw, #6-32 x 1/2" LG Phillips Head 2 5449 $1
8 Flexible Gas Line — 1/2" — PF-210 1 54261 $39
Flexible Gas Line — 3/4" — PF-399 1 54262 $50
9 Gasket for Gas Line 1 54142 $21
10 Manual Shut-off Valve, 3/4" NPT 1 54210 $15
11 Screw, #10 x 1/2" LG Hex. Hd. 2 99992 $1
12 Jacket, Lower Front Panel 1 PF6051 $58
13 Jacket Side Panel — PF-210 1 54244 $529
Jacket Side Panel — PF-399 1 54245 $580
14 Bulk Head Fitting for Condensate Hose 1 54140 $21
15 Gasket for Bulk Head Fitting 1 54134 $12
16 Leg Leveler 4 5429 $5
17 Coupling, 1" NPT Brass — PF-210 2 5534 $9
Coupling, 1-1/2" NPT Brass — PF-399 2 5551 $26
18 Nipple, 1" NPT x 14" LG Brass — PF-210 2 5557 $65
Nipple, 1-1/2" NPT x 14" LG Brass — PF-399 2 5550 $87
19 Elbow, 1" NPT Brass — PF-210 1 5558 $15
Elbow, 1-1/2" NPT Brass — PF-399 1 5553 $31
20 Tee, 1" NPT Brass — PF-210 1 5537 $15
Tee, 1-1/2" NPT Brass — PF-399 1 5554 $41
21 Nipple, 1" NPT x 3" Brass — PF-210 2 5559 $12
Nipple, 1-1/2" NPT x 3" Brass — PF-399 2 5552 $22
22 Reducing Bushing, 1" x 3/4" NPT Brass — PF-210 1 5539 $6
Reducing Bushing, 1-1/2" x 3/4" NPT Brass — PF-399 1 5556 $22
23 Shut-off Valve, 3/4" NPT Brass 1 50764 $12
24 Nipple, 3/4" NPT x 16" LG Brass 1 5560 $44
25 Convenience Outlet 1 54136 $5
26 Hex. Nut, #8-32 with Lockwasher 4 51573 $1
27 Control Module, 852MN — PF-210 1 54286 $265
Control Module, 852MN — PF-399 1 54287 $265
28 Switch, Round Toggle, 120 VAC 1 6049 $26
29 Vent / Air Inlet Adapter, 3" — PF-210 1 54200 $29
Vent / Air Inlet Adapter, 4" — PF-399 1 54201 $35
30 Gasket, Vent Adapter, 3" — PF-210 1 54216 $5
Gasket, Vent Adapter, 4" — PF-399 1 54217 $5
31 Screw, #10 x 3/4" LG Phillips Pan Hd. Type A Zinc 6 5611 $1
a2 Vent Stub, 3" — PF-210 1 54221 $69
Vent Stub, 4" — PF-399 1 54220 $101
33 Heat Exchanger Outlet Collar, 3" — PF-210 1 5531 $69
Heat Exchanger Outlet Collar, 4" — PF-399 1 5532 $92
34 Condensate Neutralizer Assembly 1 54204 $69
35 Condensate Receiver Assembly 1 54259 $77
36 Blocked Vent Switch includes items 37 & 38 1 54260 $28
37 3/16" ID Tubing x 12" Long 1 5563 $2
38 90° Barbed Elbow Adapter Fitting 1 5564 $2
- Wiring Harness, Power (Right Terminal Block) 1 PF7022 $98
- Wiring Harness, Control (Left Terminal Block) 1 PF7021 $97
- Wiring Harness, Gas Valve & Flame Sensor 1 PF7023 $38
— Wiring Harness, Ground Wire 1 PF7024 $4
- Push-on Terminal Block (Field Wiring) 10-pole 2 5450 $11
- Push-on Terminal Block (Field Wiring) 6-pole 2 5547 $6
- Ignition Cable 1 54115 $16
- Relief Valve 1 50664 $13
— Flue Sensor, 12kOhm Tasseron TSDZ0BO0 1 54209 $22
- Flue Sensor Grommet 1 54291 $6
- Supply Sensor/Switch, 12kOhm Tasseron Kit 1 54299 $41
— Return Sensor, 12kOhm Tasseron TSD0O0BS 1 54418 $30
— QOutdoor Sensor, 12kOhm Tasseron TSA00B4 1 54112 $34

PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective June 1, 2011




P PUREFIRE®

D PF-210 & PF-399
All repair parts orders - no minimum charges.
PeerlessBoilers.com Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.
All prices F.O.B. Bally, PA

PF-210 & PF-399

10 PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective June 1, 2011



PeerlessBoilers.com

PF-210 & PF-399

PF-210 & PF-399

Please order with code number.

All prices quoted are in U.S. dollars.
All prices subject to change without notice.

All prices F.O.B. Bally, PA

PUREFIRE®

All repair parts orders - no minimum charges.

Descripti Quantity Stock Trade
escription R a .
equired Code Price
1 Ignitor, with Gasket 1 54246 $58
2 Sensor, with Gasket 1 54247 $33
Premix Channel — PF-210 1 54249 $83
5 Premix Channel — PF-399 1 54250 $124
6 Gasket, Channel to Burner 1 54186 $18
. Burner — PF-210 1 54263 $368
Burner — PF-399 1 54264 $440
9 Combustion Chamber Cover Plate, includes items #10-#12 1 54248 $180
10 Gasket, Glass Rope 1 54188 $2
11 Gasket, Rubber 1 54187 $11
12 Insulation, Combustion Chamber Cover Plate 1 54255 $22
15 Insulation, Target Wall 1 54185 $32
16 Heat Exchanger — PF-210 1 5529 $2403
Heat Exchanger — PF-399 1 5530 $4974
17 Gasket, Blower to Channel 1 54122 $12
18 Blower — PF-210 1 54258 $517
Blower — PF-399 1 54257 $514
0 Blower Adapter Plate — PF-210 1 5421 $4
Blower Adapter Plate — PF-399 1 5610 $4
- Swirl Plate — PF-210, Grey 1 54251 $36
Swirl Plate — PF-399, Black 1 54252 $36
o3 Gas Valve — PF-210, includes item #22 1 54253 $357
Gas Valve — PF-399, includes item #22 1 54254 $459

PB Heat, LLC Repair Parts Trade Price List (R-11) - Effective June 1, 2011

11






